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1. Determine the limits of integration where ¢ < b such that / (z® — 16) dz has minimal
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2. Evaluate / V1 —sinzdzx.
0

G0 &APIVEED AR A B Y R P4A-19 5] 20
WNE TEMey2RE 4-19
du

Jl_u— _I-J 1+u
* *

J’J_

=2J1+u+ l+cos@+c ©

J-u'1+ccr*:~. Bdg="7

P e [ f.f?ms —:fﬁ' u"_jms dg = "u"_sm—+r:*

du

<& _ru=cosd ' Bl du= ﬁuﬁdﬂ—}dﬁ—
sin & -ulll cos” 8 '.Irl—u
Eﬁ?-"?'.=[w..'l+u du —[ du =—2fl-u+c=-21—cozsf +¢c *
- 1.lr1 u? J1-
i
HOL20 g [Vi-snede="
FeIER
[ %]
<iF '}Eﬁ=fJﬁg+CDE:§—ltﬂigsiﬂgtfﬂ'=IJ{EE§—EDE§]:{15

. & & g . &
= J-{sm— —ccrs;}dt’-‘ = 2{—:‘&5.; - '31.1.15} +c -

WL jJsm @ i cod E—Ems£s&u£dﬂ=fJ{ms£—sin£f:fﬂ
3 72 53

g . 8 g

2
<z —ru=szné ' Bl du=cos8de—de= du__ duﬂ = d”ﬂ
cosé  Ji-sn’s i1-u’
A =[Vl-u J = J;‘” =2T+u+c=2fT+smé +c -
1-w*  Al+u
* * *

# [Jl+sineds=1
=



